
Essay Question 1:
With higher income and the influence of media, there is a rising consumption of alcohol. To reduce the rising consumption, Singapore imposes indirect tax on alcohol while Scotland introduces minimum price for alcohol. 

(a) Explain the likely effect of indirect tax and minimum price on expenditure by consumers on alcohol. 
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(b) Using demand and supply analysis, discuss whether indirect tax or minimum price is more effective in reducing quantity of alcohol sold with the rising income and influence of media.  
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Part (a)

Introduction

To reduce the negative effects due to consumption of alcohol, government can either raise tax or set a minimum price. This will result in a rise in price and hence discourage and reduce consumption of alcohol. An indirect tax can be imposed on the alcohol to discourage consumption of alcohol. With a rise in tax, this will increase the unit cost of production on the producers. Less profit will be made with the same selling price. Hence, firms will be less able and willing to supply a good at any given price. This shifts the supply curve for alcohol leftwards from S1 to S2 as shown in Figure 1.
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As alcohol is quite additive in nature, the demand for alcohol tends to be price inelastic. With a fall in supply, price rises and quantity demanded falls by more than proportionate. Hence total expenditure for consumers rises. Before tax, consumer expenditure is shown in the area A0Q1D. After tax, consumer expenditure rises from 0P1BQ1 to OP2AQ2. Hence, an indirect tax on alcohol will result in consumers paying a higher price and given that the demand is price inelastic, consumer expenditure will rise.

To discourage the consumption of alcohol, government can also set a minimum price. A minimum price is a price set above the equilibrium price, making the price of alcohol to rise. Before government impose a minimum price, consumer expenditure is shown in the area 0P1BQ1 in Figure 2. After imposing a minimum price at P2, the consumers’ expenditure rises to OP2AQ2. This has the same effect of an indirect tax.
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Hence, with a minimum price set on alcohol will result in consumers paying a higher price and given that the demand is price inelastic, consumer expenditure will rise.

In conclusion, both indirect tax and minimum price will result in higher prices and lower quantity. Whether the consumer expenditure will rise or fall will depend on the elasticity of demand for alcohol. Given the demand tend to be price inelastic, the consumer expenditure is expected to rise.
Part (b) 
Given a rising income and influence of media, whether indirect tax or minimum price is more appropriate in reducing the quantity of alcohol sold will depend on how effective these policies are considering the benefits, costs and any unintended consequences of these policies. With rising income, the demand for alcohol will rise assuming that the alcohol is a normal good. Given the influence of media, advertising encourage consumption of alcohol and changes the taste and preference of consumers and hence increase the demand for alcohol and make the demand more price inelastic.

Rise in indirect tax + Rising income + Influence of media

With a rise in indirect tax, it raise the unit cost of production of firms causing the supply to fall and shift to the left. With a rise in demand and a fall in supply for alcohol, price rises while quantity is uncertain.  Assuming the demand rises more than the fall in supply, both price and quantity will rise P1 to P2 and Q1 to Q2 respectively, making indirect tax ineffective in reducing the quantity of alcohol sold as shown in Figure 3.
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However, if the rise in demand is less than the fall in supply, price will rise from P1 to P2 while quantity will fall from Q1 to Q2. Hence, indirect tax will be effective in reducing the quantity of alcohol sold as shown in Figure 4.
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Hence, the effectiveness of an indirect tax in reducing alcohol consumption will depend on the extent of the shifts in the demand and supply curve. Whether a minimum price is effective in reducing consumption of alcohol will depend on the amount of minimum price set and the extent of the shift in demand due to rise in income and influence of media.
Minimum price + Rising income + Influence of media

With a minimum price P2 set above the equilibrium price P1, it forces the firms to sell alcohol at P2. Quantity sold will fall from Q1 to Q2. Assuming the demand rises to a large extent from D1 to D2, quantity will rise from Q2 to Q3, making minimum price ineffective in reducing the quantity of alcohol sold as shown in Figure 5.
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However, if the demand rises to a small extent from D1 to D2, quantity will fall from Q2 to Q3, making minimum price effective in reducing the quantity of alcohol sold as shown in Figure 6.
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Hence, the effectiveness of setting a minimum price in reducing alcohol consumption will depend on the extent of the shifts in the demand and the extent of the minimum price set above the equilibrium price.

In conclusion, both policies like indirect tax and minimum price are ineffective in reducing the quantity of alcohol sold as they do not target at the root cause of the problem. However, with a rise in income and influence of media, indirect tax on alcohol seems to be more appropriate than a minimum price in reducing the quantity of alcohol sold considering the benefits and costs of both policies. 

Hence, both policies can only be a short term measure. In the long run, government needs to target at the root cause of the problem which is educating the consumers to reduce consumption of alcohol due to the negative effects of alcoholism.
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